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NEHT (STEFSTRE] £ B F 4 SYNRE  [FEHE[S1[S2[ S3 [S4[S5[S6[&E[ X e
1 o | 37| miEEE AW KF eSS KL=A | 1 196.9]950]100.7]96.9[955]96.3[ 581.3 ] 13
2 B |37 XF Fz BWKE BPEUOL FaxpE] 1 [92.7]91.6] 935 [93.8]92.6]84.9] 549.1 4
a | 39| ER Fi#H PN Fo5EA BSE [ 1 DNS
B | 38| EE #%i TRKFE Hhb LY 1 DNS
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10mBRS40MW

IB4AL | 598 | STEE| 4 Bl PR 4 ROF A #HE[S1[s2[s3[s4] &% &%
1 H 8 | =R F&# RBHEXEFE F5EA b= 1 |100] 99 | 99 | 100 398
2 F 11 ik &85 BIWKE heES KLi=h 1 97 | 97 [ 98 | 99 391
3 I 8 E¥F 5 EE N b hTF 1 96 [ 100] 99 | 94 389
4 C 11 5k 1R BIWKE LS MAT 1 91 | 91 [ 96 | 98 376
5 B 11 | XF FHz BIWKE EHUVL FIPE 1 91 | 92 | 91 | 95 369
6 A 2 | &E8 & EIRKE HIOPIE 1 94 1 89 | 89 | 92 364
7 H 11 | K EKX ZEKE TIE PFUA 1 93] 93] 92] 85 363
8 C 4 I —8E | BMFEREXFE BNz A TE 1 93] 91| 86 | 91 361
9 B 4 Xith B | BHFRXF HELT Y7 1 87 [ 95 [ 84 [ 94 360
10 D 3 Ik B | FEBRIZERE| ZIEDBL Y 1 90 | 89 | 89 | 89 357 S4=89
11 E 11 | #8 JLKBA ZEKE FZF 23155 1 93] 92| 85| 87 357 S4=87
12 D 11 th{& {hic ZEKE H5p5LLD PIF 1 88 [ 93] 84 o1 356
13 D 8 HO H#\FE BIWKE =<6 DYV A 1 85| 86 | 92 | 92 355
14 C 8 =3 855 BIWKE f=HLy LT 1O 1 89 | 91 | 84 | 90 354
15 A 4 AT RIsE | BHFREKRE | AHDS F2hS5H | 1 93 | 87 | 84 | 87 351
16 F 7 PN ERKF 561 KL& 1 92 | 91 [ 82 | 84 349
17 I 6 [RIT P3| L2HEXF 55 [F0& 1 84 [ 89 [ 81 ] 93 347 S4=93
18 G 4 H® =h FRERKRE | (FOLYLSTIT 1 88 ] 79| 91 | 89 347 S4=89
19 D 6 AT FA LEEXRF =DLT- &3 1 91 | 87 | 88 | 81 347 S4=81
20 H 9 FE 5E— ZHKE HEMLE LALVS 1 82| 85 [ 83 96 346
21 A 9 | &I =<5 ZHKE HEYhh <5 1 89 [ 80 [ 86 | 89 344
22 E 8 FELL fin ZBEKZE LWERE b 1 90 | 79 | 81 | 91 341 S4=91
23 C 2 |nE KFF EIRKE M =T 1 91 [ 86 | 88 | 76 341 S4=76
24 G 8 | KARER BIWKE ELX VAHE 1 89 | 77| 85 | 89 340
25 H 4 | KRB TAY | BEMFERRE s (L0 C 1 78 | 81 ] 86 | 93 338
26 I 11 | THEEZH EBHKXFE b= MhMEC 1 78 1 79 | 86 | 93 336 6.11.7.15YS1 LY 64 H A, S4=93
27 G 9 WHE #8X THKEF VFEE P51 1 81 [ 81 [ 89 ] 85 336 S4=85
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IBAL | 58 | STEE| 4 Bl P4 ROF A #HE[S1[s2[s3[s4] & &%
28 H 6 =H fin HEEXRE EHTE DB 1 78 | 87 | 84 | 84 333
29 G 3 hH EE | AEEIEXE Bhd ph 1 89| 83 ] 85| 75 332
30 C 3 A =i (FaBEIEXRE| FHLI5F 1 8782 771 85 331
31 A 3 WT SE |FaRIEKXRF| PFELE ST 1 83| 83| 78 | 86 330 S4=86
32 D 9 =H Kig RN HT= fELNE 1 81 [ 91 | 76 | 82 330 S4=82
33 H 2 AH & HEEXRFE BHE=- WS 1 81 | 86 | 80 | 82 329
34 A 11 | 8O EA ZHKE U<E p5& 1 741 83 ] 88 | 83 328
35 F 9 HF A ER THKEF SHTH 1 89 [ 73 [ 79 [ 85 326 S4=85
36 C 9 B R THXE VoM ELAHD 1 78 | 82 ] 89 | 77 326 S4=77
37 B 6 EH 1&& HEEXRFE MNEHA 5L 1 82 [ 82| 76 | 85 325
38 E 9 E2H BR ZHIKFE LWhDE (FLV= 1 77 [ 76 | 84 | 87 324 S4=87
39 F 2 EHXE L2EEXE EYLy Fip 1 8218283 77 324 S4=77
40 F 8 [T B BIWKE EhtE ESL 1 79 | 82 | 77 | 84 322
41 G THEEES ZEKE THl- HPh 1 86 | 74 [ 82 ] 79 321
42 B 2 [ XKig #XER ERKFE BE2I2M ITAT=AS]| 1 81 ] 85| 70 | 83 319 S4=83
43 C 6 ZF IEH | BHREXE LY HO= 1 79 [ 84 ] 76 | 80 319 S4=80
44 D 4 e & EHFRERE =FL YLD 1 86 | 75| 77 ] 78 316
45 I 4 BEIEE | BHNFEREXE Z&S BNE 1 69 | 75 | 90 [ 81 315
46 A 6 IR & LEEXRF FT=EES LD 1 80 | 73] 80 | 78 311
47 I 9 FAT ik THXE BHhEn S5 1 88 | 79 | 68 | 64 299
48 B 9 RE #%i THXE BhE LY 1 77 1 66 | 72 | 81 296
49 B 3 g EE | AEETEXRE NeES PIL 1 64 | 77 [ 77 | 76 294
50 F 6 WA ER LEEXRE PFEELEELTDY 1 68 | 73] 77 | 69 287
51 F 3 T8 Hth |FEERIEXRFE| HHhLE BV 1 81 | 74| 66 | 65 286
52 D 2 8 =it EIRKE bhi- O5= 1 72171169 ] 72 284 6.11.1.3ICKYRGT40F B = E3N
53 E 7 [/MRHF BE EEIKF MUY (FBH 1 81 | 70 | 69 | 59 279
54 F 4 MO 52 | BEHFRERE U<E = E 1 56 | 73| 71 | 73 273
55 G 2 AE K LEEXRE FANR F{H 1 71 [ 68 | 57 | 76 272
G 6 A = LEEXRE =5 HLY 1 DNS




FAE P EFEESATILETE T ANE

10mBPS40MW

JEZ [ S48 | G4EE| 45 HI FRA RO A EHE[S1[s2]s3[s4a][ & & &
1 b 17 | EFME | &WXE b NI FE 1 73| 76 | 57 | 78 | 284
2 b 8 | KB TAV|BMERKRE| &6 (FLOL 1 64 | 68| 57 | 78 | 267
3 b 9 | HAREXR| BEKE |F39=0TUOA[ 1 63 | 57| 72| 71 | 263 |S4=71
4 a 8 | EH XiE | ZBHKEF HAOt= FELE 1 57 ] 78 | 64 | 64 | 263 | S4=64
5 a 4 | LA @MX | BHXFE PFEE WS1 1 48 | 69 | 70 | 58 | 245
6 a 9 | tBF R | BEKZFE 2L = 1 56 | 53 [ 53 | 49 | 211
7 a 7 | HHEAN| ZHXEF 561 KL& 1 55 | 43 [ 42 | 50 | 190
8 a 6 | M MK | TBHXE [ GHhEs 5| 1 55 | 37 ] 46 | 32| 170
9 b 11 H 2R |BANZRRF]|FOLYLSTIH] 1 27 12] 4 114 ] 57




F20EFEEESATILET EFREL
10mS60MW A-FINAL

Rank] Bib No Name Univ 1st Comp. Stage 2nd Competition — Elimination Total
1 H [&&5 Hoh LHEXE 28.3 58.7 77.5 97.0 117.2 138.2 159.0 179.4 200.0 200.0
ik HE 10.1 10.4 10.1 9.3 10.0 10.7 10.1 10.1 10.0

10.2 10.4 8.7 10.2 10.2 10.3 10.7 10.3 10.6
8.0 9.6
2 C TN ITWI 1T |BEMIEKRE 29.2 55.1 74.1 95.0 114.9 132.9 152.6 172.2 1925 1925
Fi2 £h 8.9 7.9 9.8 10.5 9.7 9.4 10.1 9.1 10.2
10.5 8.9 9.2 104 10.2 8.6 9.6 10.5 10.1
9.8 9.1
3 D JCAES L&D L2HEXE 28.7 57.2 74.4 93.8 113.8 133.1 152.9 171.4 171.4
TRk X 10.1 9.1 8.3 10.2 10.3 9.8 10.3 80
9.2 10.6 8.9 9.2 9.7 95 95 10.5
9.4 8.8
4 F JWasE S&H 2HEBRKE 25.4 52.6 71.8 86.7 106.6 124.3 144.3 144.3
fiE HE 6.1 9.4 9.5 15 9.6 9.4 9.8
9.6 7.9 9.7 7.4 10.3 8.3 10.2
9.7 9.9
5 E =045 ITATAS BB KRE 26.0 52.7 69.3 87.3 107.3 123.2 123.2
=2 f#EXKER 9.0 9.1 9.7 9.7 10.6 9.6
8.6 7.3 6.9 8.3 9.4 6.3
8.4 10.3
6 A FEZEDOEN BHERRE 27.3 53.6 73.3 90.6 105.3 105.3
BiIE F07E 9.1 10.1 9.5 9.2 7.6
9.4 9.1 10.2 8.1 7.1
8.8 7.1
7 G uwbhf=Fz0v5 AR 25.1 52.6 71.3 85.0 85.0
FH #X 7.7 76 9.9 5.4
9.2 9.8 8.8 8.3
8.2 10.1
8 B ui\Lhvd FEH BHIFERRRE 23.6 495 67.9 67.9
Bl Hih 8.4 8.4 9.3
6.6 7.3 9.1
8.6 10.2
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Rank] Bib No Name Univ 1st Comp. Stage 2nd Competition — Elimination Total
1 B uLhbh =20 |&IXE 28.9 57.8 77.2 94.1 113.6 132.9 152.2 170.1 189.4 189.4
Al E4 10.2 105 9.2 8.9 9.3 10.3 9.6 95 9.1

8.4 9.3 10.2 8.0 10.2 9.0 9.7 8.4 10.2
10.3 9.1
2 C [oFEdEFEW BHERERE 27.0 53.4 71.4 90.5 107.9 127.1 146.3 164.2 182.1 182.1
AR Ef 8.3 7.8 9.0 9.9 8.4 10.0 10.0 8.5 9.0
10.1 9.8 9.0 9.2 9.0 9.2 9.2 9.4 8.9
8.6 8.8
3 G liF=FE- &L BHEREXE 25.1 54.2 73.2 89.2 106.9 125.1 141.7 161.2 161.2
FH BT 5.3 9.9 9.9 9.4 7.8 9.1 8.6 9.7
9.9 10.7 9.1 6.6 9.9 9.1 8.0 9.8
9.9 8.5
4 D [Eo8h & FRKE 22.7 50.9 69.6 88.6 106.1 125.4 141.3 141.3
NGRE =] 6.2 9.4 9.8 9.2 8.3 104 8.0
76 9.8 8.9 9.8 9.2 8.9 7.9
8.9 9.0
5 A IBYEh &5 2HEXE 26.6 51.7 68.7 87.5 101.5 119.3 119.3
BEE 10.6 7.7 8.1 9.0 8.1 9.4
7.7 76 8.9 9.8 5.9 8.4
8.3 9.8
6 H Vabhd p5E LHERE 25.6 53.2 67.8 83.4 97.8 97.8
T8 K& 10.3 8.5 5.9 9.6 5.9
6.2 9.5 8.7 6.0 8.5
9.1 9.6
7 E JOFECH (XbHE BHZERERE 27.2 51.3 68.3 82.6 82.6
WA g 9.5 8.8 9.0 84
8.2 9.8 8.0 5.9
95 55
8 F LS 5H#DY ZEHEIXXRY 260 51.2 67.1 67.1
{Fik B 9.2 8.3 9.1
9.8 8.9 6.8
7.0 8.0
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JESL |STEF GIEE| 44 B R4 MWHT [FEHF[ S1 ] S2[S3[S4[S5][S6 [&E X e
F-A | I [33]| FFE=H | EHIERE | TOFWVFIF] 4 [ 993 ] 988 [ 9721982 952 [100.1] 588.8 | 20
F-A | I [ 29 PN N HEEXRE cAESLES | 4 11000] 958 | 97.8 [102.3] 90.7 [ 959 [ 5825 | 18
F-A | T [ 29 | {%&8E ¥ LEEXRE =& Hoh 4 | 964967 ] 983[ 933|988 983 581.8] 19
F-A | 0 [ 30| ZHEX AP KRE Whf-£SUA | 4 [ 956 [ 96.8 [ 90.1 | 989 96.2 ]| 94.7 ] 5723 14
F-A | I | 23| &JI 3 ZHFERE | LWhvbh FSH[ 4 1965 924 ] 941 993 ] 946 | 942 [ 5711 [ 13
FFA [ T [19[EEBKE| Z2HEKXRFE [=HALKS 1TA=AT 4 19501984964 [ 972 (887 [ 9235680 10
F-A | I [ 24 | #giE 3£ LHEXE WA= SEA | 4 1961 [901]99.1[899] 929 993 567.4] 14
F-A | O [ 23 | @iHE F01E ZHFEERE | FAEDOEM | 4 1956 [ 923 ] 97.7] 935] 909 | 935 5635 ] 10
F-B | I | 22] #\[m EH THRKE FopMN AP | 4 | 849 ] 938 ] 96.4 ] 90.7 | 95.0 | 94.0 | 554.8 9
FB | I [33] &% k& LEEXRE HHhD o= 4 1959 959] 936 | 86.0 | 87.7 | 90.3 | 549.4 9
F-B | I [20] AJ=Et AP KE Wehvbh-2%H | 4 [ 889 876 939 89.2 [ 91.4 | 95.2 [ 546.2 4
FB | I [34] BT |[2aBRITZERE|] WES AHDY | 4 1901]867]924] 953863939 (5447 9
F-B | 0 [ 18] UK EHR EHFREKRE PELEFER 4 | 880] 938 ] 958 | 882 ] 87.0 ] 90.6 | 5434 [ 10
F-B | O [ 28 [ 1ho egsf ZHMFERRE | ©FCHE 1FHE] 4 [ 909] 899 ] 890 926 | 889 | 896 | 5409 [ 10
F-B | I [ 28| #HEIEF EHFEREKRE [T &L 4 | 891 871]935] 862 ] 91.2] 879 | 535.0 6
F-B | I | 24 FE ¥ AEEXRE HYzH &5 4 | 868 | 932872 825 932 ] 88.8 [ 531.7 5
17 I |30 FIMX APKE VDl 51= 4 |1 830/ 886|882 902 90.2 | 88.6 | 528.8 5
18 I [ 32| FE ftu TRKRE TLE &% 4 | 896 938 86.1] 859 ] 839 ] 886 ] 527.9 | 10
19 I | 27 [ H &&F THKE I pES 4 | 822891 91.3] 915] 841 | 885 | 526.7 7
20 0[22 | WX F= THKE <FHEH0A | 4 [ 829 86.1]933] 905 86.1 | 83.6 | 5225 3
21 0|27 K#tE£ER THKE BHOS =r1H=| 4 | 8598731909 876 | 79.1 | 89.6 | 520.4 6
22 I | 19 | U Fo#t Z2EERE | UOoPEHITE|] 4 | 919837 ] 906 | 848 ] 87.3 | 80.7 | 519.0 7
23 0| 17 [ BRIIZ=E TRKRE lFernhH 0&H| 4 | 826 895 ] 844 | 77.7 | 943 | 81.6 | 510.1 3
24 O[22/ oA BPKE WHITAE 4 [ 820 781 | 772 ] 86.4 | 88.1 | 86.1 | 497.9 3
25 I |34 | EHB8T |Z6EIZEXRF| - ELpE| 4 | 766 | 844 | 856 [ 79.1 | 84.8 [ 83.4 | 493.9 7
26 0|25 BT |2B0BIEKXRF| &5 250y | 4 [ 787894 ] 783 [ 83.7] 780 | 82.8 | 490.9 5
27 O [ 32| 558 ZFER ERKRE LIE=F-2%55] 4 | 7171 749] 650 ] 79.7 | 80.6 | 83.3 | 455.2 2

I 125 | MR FEH |2HGBRIEZEXZE|EMNPT vTDY 4 DNS
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10mARS60MW [{A

2k 2 [9EEE £ ®1 [Ss1][s2[s3[s4[s5[se6[H A] X [& #[IER] E=E
I |24 Rk XX 100 [ 95.8]97.8] 102]90.7{95.9] 5825 | 18
2HEBXE I | 29| & 5 [96.4[96.7[98.3]93.3]988[983] 5818 | 19 | 1731.7| 1
0|29 FaiE BE [96.1/90.1[99.1[89.9[92.9[99.3] 567.4 14
2 R 2 [SEE £ #i [S1[S2[s3[s4[s5[s6[H& A] X |[& HIER] E=E
I | 23] AJI Ht [965[924[94.1[99.3]/94.6]|94.2] 571.1 13
FHEEAE | T | 18] WA EH [880]938[958]882]87.0(906] 5434 | 10 | 16780 2
O [ 23| @@ #f0{€ 195.6]92.3]97.7]/935[90.9[935[ 5635 10
2R 2 [HEEE £ Bl [Ss1]sS2[s3[s4[s5[s6[&H A] X [& #[IER] E=E
I [ 20] AJIZEH [889]876[939]/89.2[91.4]952] 546.2 4
2WKE I | 30| I #AA |830[886]882]/902]/902]/886] 5288 5 |16473| 3
O[3 M #X |1956]/96.8]/90.1/989[96.2[94.7| 572.3 14
2 R 2 [FEE £ #1 [S1][s2[s3[s4[s5[s6[H A] X [& #[IER] #=
I | 22 ] # £FH [84.9]93.8[96.4]90.7[95.0] 94.0] 554.8 9
BHIKE I | 27 | "8 k&F [822]89.1]91.3[915[84.1/885] 526.7 7 | 16019 4
I 27| X#t=ER 1859[87.3]1909[87.6]/79.1/89.6| 5204 6
2R 2 [HEEE £ Bl [S1]S2[s3[s4[s5[s6[&H A] X [& #IER] E=E
I [ 34 ] {7 sf8n [90.1]86.7[92.4]95.3]86.3]/93.9] 544.7 9
ZHBIEXRE 0 [ 25| £k 5T |78.7]89.4[78.3[83.7] 78 [82.8] 490.9 5 | 15295 5
0| 34| =HBT |766[844]856(79.1/848]83.4[ 493.9 7
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10mBRS40MW
IEAL | STEE|GTEE] 45 B Fh4 SYHE P I S1[(S2[(S3[|S4|55H| mE
1 3| 7 BHEEA THXE AL £L&E 4 [ 85| 89| 81| 88 343 | s4=88
2 8 | 3 R HE BHTEKRE | F5H#D2TH | 4 18386 ] 95] 79| 343 | S4=79
3 8 | 7 | 7v@E HEH BEKE HfE Y 4 | 88 ] 84 82] 82 336
4 4 | 7 | EXES BEKE TEHEPE 4 | 88 ] 82 84] 80 334
5 1 8 g8IIEC BEPKRZE norbhELDEl 4 [ 75192 72 ] 75 | 314
6 8 2 Bl BA THRKE b=t ALl 4 [ 81 ] 72 73] 76 | 302
7 2 | 7 | ESII f08E ZHIKFE IFErbh nd=] 4 | 62]68] 75 74| 279
6 | 7 ZHRE 2 THXE =E = [ 4 DNS
71 3| BEXHEH THXE HEE (P 4 DNS




